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O¢tovpe h(x)=2f (x)+g(x) (1) ,onote lim h(x)=0

‘Eyovpe

(1)=h(x)=2F (x) +(x) = h* () =[2f (x) +9 (x)] =

h?(x) =4f?(x) +4f (x)g(x)+g*(x) = 4f*(x) +9° (x) =h*(x) - 4f (x)g(x) =

= lim [4f2 (x)+g? (x)] = lim [hz (x)—a4f (x)g(x)] =
Jim h(x)= lim f(x)g(x)=0

= lim [ 4f%(x) +9°(x) |=0

O¢tovpe Tdpa A(x)=4f7(x)+g*(x), omote lim A(x)=0

[Tpopavag eivor

42 (x) < A(x) (1)

g (x)<A(x) (2)
Onodte
(1) = J4f (x)] < JA(X) = —JA(X) <4F (x) < JA(K) = - A4(X) <f(x)< A4(X)
A(x) A(x)
- 4 <t (X) = 4 Kkpreiplo apepBori

= | A | AC) = lim f(x)=0

m - 4 =.m 4 =0
(Z)S‘Q(X)‘S A(x) = —JA(X) <g(x) < {JA(X) prﬁpwgwmﬁ@ lim g(x) =0

ILnl(— A(x))z lim \JA(x) =0 oIV =



